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1. Independent variable in research:
(A) Can be manipulated
(B) Remains constant for a study
(C) Cannot be measured
(D) Can only be counted

2. Twostatements (I & IT) and four conclusions
(1,2, 3, & 4) are given below:

Statements : (1) All green are blue
(II) All blue are orange
Conclusions : (1) Some blue are green

(2) Some orange are green
(3) Some green are not orange
(4) All orange are blue
Choose the correct answer from the
following options:
(A) Only (1) and (4)
(B) Only (2) and (4)
(C) Only (1) and (2)
(D) Only (1) and (3)

3. The parameters for ‘National Institutional
Ranking Framework’ in India are:

(A) Teacher Student ratio; Research
Projects; Placement; UG, PG and Ph.D.
Programmes; Outreach Programme

(B) Teaching, Learning and Resources;
Perception; Views of Stakeholders;
UG, PG Students; Resources

(C) Teaching and Learning; Research;
Views of Students; Research
Projects; Funding; Information and
Communication Technologies;
Perception

(D) Teaching, Learning and Resources;
Research and Professional
Practices; Graduation Outcomes;
Outreach and Inclusivity;
Perception
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4. Identify the correct pair related to research
from the following:

(A) Rationale of the study —
Emergence of the study

(B) Methods — Procedures

(C) Abstract — Summary points

(D) Discussion — Generalizations

5. Which of the following is not usually found
in both thesis and research articles?

(A) Introduction and Acknowledgements
(B) Method and References
(C) ISSN and Impact Factor
(D) Results and Conclusions

6. In a collaborative teaching-learning
environment, the teacher plays the role of:

(A) A facilitator
(B) A friend
(C) A guide
(D) A trainer

7. Thecriteriaagainst which students’ progress
of learning in different curricular areas could be
assessed are known as:

(A) Learning Contents
(B) Learning Objectives
(C) Learning Outcomes
(D) Learning Experiences
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8. Identify the characteristics of aconstructivist
classroom from the following:

I. Community of learners are present
in the class.
II. Classroom
competitive.
III. Classroom environment is interactive and
supportive.
IV. Classroom is dominated with empowered
teacher.
V. Classroom environment is cooperative and
activity based.
Choose the most appropriate answer from the
options given below:
(A 1L IV, V
(B) 11, 1IL, IV
(©) LI,V
D) IL 1V, V

environment is

9. A five-credit course with two credits
assigned for lectures, one credit for tutorial and
two credits for fieldwork shall have the following:

(A) Two 1-hour lectures, one 1-hour
tutorial and two 4-hour fieldwork per
week

(B) Two 1-hour lectures, one 2-hour
tutorial and two 3-hour fieldwork
per week

(C) Two 3-hour lectures, one 1-hour
tutorial and two 4-hour fieldwork per
week

(D) Two 4-hour lectures, one 2-hour
tutorial and two 2-hour fieldwork per
week

00
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10. In the context of students’ appraisal,
‘PARAKH’ stands for:
(A) Performing, Accelerating,
Reviving, Aspiring and Knowing
Humanistic Approach
(B) Performance Assessment, Review,
and Analysis of knowledge for
Holistic Development
(C) Performance Accreditation, Review
and Acquiring Knowledge for Human
Development
(D) Performing, Assessing, Reviewing
and Aspiring to know Development
of Humans

11. Find the missing number in the following
series:

48, 24,72, 36, 108, ?
(A) 115
(B) 216
(€) 121
(D) 54

12. External criticisminthe evaluation of source
materials for historical research refers to:
(A) Usefulness of the source material

(B) Ease of access to the material and its
content

(C) Accuracy and trustworthiness of the
content

(D) Authenticity and genuineness of
the document

13. How many triangles are there in the figure
below?

(A) 5
(B) 6
©) 8
(D) 10

7
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14. Consider the diagram given below:
English
a Hindi

Mathematics

Five hundred candidates appeared in an
examination comprising testin English, Hindi and
Mathematics. The diagram contains the number of
candidates who failed in different tests. Whatis the
percentage of candidates who failed in at least two
subjects?

(A) 0-078
(B) 1-0
(C) 68

(D) 7-8

15. Ina group of cows and hens, the number of
legs are 14 more than twice the number
of heads. The number of cows is:

(A) S5
B) 7
(©) 10
(D) 12

16. From the following, find out the group of
letters which is different from the others:
(A) EGIK

(B) PQST
(C) IKNO
(D) MORS

17. Find the missing character in the
diagram fromthe given alternatives:

anYaryan
e,

29 9 w 213
(A) 117
(B) 36
(C) 32
(D) 49

00
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(A) 0078

(B) 1:0

(C) 6:8

(D) 7-8

15. 9 oSl @3- Ao wCa, 2IC@ ALl ML=
TR fawe (A 14 @M | oS A7 21
(A) 5
(B) 7
(C) 10
(D) 12
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(2t fon ©f el e
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(C) IKNO
(D) MORS
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18. Find out the missing letter in the table from 18. =€ 3 (AE AR SFRIE Se S0
the given alternatives: T
A|lZ|B A|Z|B
Y C| X Y | C
? | W|E 71 W| E
(A) B (A) B
(B) D (B) D
© K €) K
D) Vv D) V

19. Ifinacertainlanguage, POPULAR iscoded

19. I @e ST, POPULAR-G QPQVMBS
as QPQVMBS, which word would be coded as

(FICS R <41, 2T GBNPVT-(F (Fl (FICS
GBNPVT? i
(A) FAMOSU (A) FAMOSU
(B) FAMOUS (B) FAMOUS
(C) FASOUM (C) FASOUM
(D) FOSAUM (D) FOSAUM
20. Find the missing character in the diagram 20. =ve s SR (@21bg (A6 e A
from the given alternatives: R e
5 A3 5
2N " Aaalao\t
2\.? |36 5 2\ 7 |36,/5
8 1 8 1
(A) 100
(B) 81
A) 100
(C) 64 EB; o
D) 121 © 61

(D) 121



21. Arrange the following universities as they
evolved, in ascending order, in post-independent
India:
I. Technical University
II. Open University
III. Teacher Education University
IV. Agricultural University
V. Petroleum University
Choose the correct answer from the options
given below:
A) ILIL IV, V,1
B) IV,IL LV, I
©) V,ILIL LIV
(D) 0L L 1v, v, I

22. Asper PWCresearch organization’s global
survey, the financial growth of Entertainment and
Media industry in future will be powered by:

(A) Advertising
(B) Consumer Spending
(C) Spread of Podcast

(D) Satellite Communication

23. Which one of the following is essential to
obtain a4-year UG Honours with Research Degree?
(A) Securing 160 credits including
12 credits from a research project
(B) Securing 160-credit in general and

12-credit from a research project
(C) Securing 75% marks and above in the

first six semesters

(D) Successfully completing a research
project in a minor or major discipline

00
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24. Identify from the following the learning
contents in Professional Education Program:
(A) Principles, Skills, Techniques,
Applications and Language
(B) Principles, Practices, Techniques,
Skills and Applications

(C) Core Concepts, Principles,
Techniques, Applications and
Practices

(D) Core Concepts, Language, Principles,
Skills and Applications

25. Studies of Near Eastern and Far Eastern
societies and cultures, language, people, history
and archaeology is known as:

(A) Western Learning
(B) Unorthodox Learning
(C) Oriental Learning
(D) Semitic Learning

Read the following passage and answer Question
Nos. 26 to 30:

Today the revolution in biology that began with
the discovery of genes more than a hundred years ago
has led us to a crossroads. For the first time, recent
research on the fundamental causes of agingisraising
the prospect not merely of improving our health in
old age but also of extending human life span.

Demographicsisdriving ahuge effort to identify
the causes of aging and to find ways to ameliorate
its effects. Much of the world is faced with a
growing elderly population, and keeping them

healthy for as long as possible has

become an urgent social imperative.

The result is that after a long period in
which it was a scientific backwater, aging
research—or gerontology—has taken off.

In the last ten years alone, more than 300,000
scientific articles on aging have been published. More
than 700 start-up companies have invested acombined
many tens of billions of dollars to tackle aging—and
this is not counting large, established pharmaceutical
companies that have programs of their own.

24, TFfrie REmnel (& e auEiE
@Ner-9 FrEe s Somiaef iz w:

(A) faiferstem, e, (Gfere, wmifacsia
G3R TS
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SR @R AFHET

(D) @ I, SR, e,
o] G3R SITATEI]

25. “fee iy’ (fF111'295) ¢ 771 &liby” (1 295)
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(A) ST eIl
(B) wierdiey ifik
(C) SRS afek
(D) s afie
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This enormous effort raises a number of

questions. Could we eventually cheat disease and

death and live for a very long time,

possibly many times our current life

span? Certainly some scientists make

that claim. And California billionaires,

who love their lifestyles and don’t want the party
to end, are only too willing to fund them.

The immortality merchants of today—the
researchers who propose trying to extend life
indefinitely and the billionaires who fund
them—are really a modern take on the prophets of
old, promising a long life largely free of the fear of
encroaching old age and death. Who would have
this life? The tiny fraction of the population who
could afford it? What would be the ethics of
treating or modifying humans to achieve this? And
ifitbecomes widely available, what sort of society
would we have? Would we be sleepwalking into a
future without considering the potential social,

economic, and political consequences

of humans living well beyond our

current life spans? Given recent

advances and the enormous amount of
money pouring into aging research, we must ask
where this research is leading us, as well as what
it suggests about the limits of human beings.

The coronavirus pandemic that hit the world in
late 2019 is a stark reminder that nature does not
care about our plans. Life on Earth is governed by
evolution, and we are yet again reminded that
viruses have been here long before humans, are
highly adaptable, and will be here long after we are
gone. Isitarrogant to think that we can cheat death
using science and technology? If it is, what should
our goals be instead?

26. What prospect is raised by recent research
in Biology?
(A) Gene discovery and therapy
(B) Revolution in Biology
(C) Improve health in old age and increase
life expectancy
(D) New medicine and surgery

B AT T AT P 2mie T T |
el 6 AR Gl @3 9 e Aol SR
aR AT T (& e HiRfg, Al Face vife
SN IO G-l Fveeiaz g
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27. Gerontology is the:
(A) Study of old and aging
(B) Knowledge about old people
(C) Search for reasons of death
(D) Study of living and dead

28. What proves that gerontology has become
a vibrant area of research in Biology?

(A) Discovery of genes

(B) Publications and start-up units
(C) Increase in old age homes

(D) Evolution in Biology

29. What are the consequences the author
foresees about research on old age and extention
of life span?

(A) Funding issues

(B) Hospitalization of old citizen issues
(C) Freedom of life issues

(D) Socio-economicand political issues

30. What, according to the author, the nature
warned the human beings?

(A) Natural virus is everywhere

(B) Nature lives forever

(C) Nature disregards plans of human
beings

(D) Nature protects human beings

31. A young adult who spends considerable
time with video games, social media and other
internet governed activities is called a:

(A) Techi

(B) Screenager
(C) Net-native

(D) Net-migrant

Y-12
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30. ERER SPIE oo A
BISERICIREEI

(A) 7R3 s Gl q@0E

(B) @gfe Seiel ({0 AP

(C) 23S TR AR SrolF I
(D) 2FFS ST 571 0

31. @ T LS’ SR6! A S (o3,
T ISR A8 ST TG ez e FRi<setco!
&1 IS, ©IE I 23
(A) G
(B) f&wrais
(C) Fo-Ev®

(D) GI5-12A%
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32. Identity from the following a benefit which
Intranet does not provide:

(A) Cheap, easy and safe service

(B) Share data among consumers
without delay

(C) Secure space to store and develop
applications

(D) High security passwords

33. Given below are two statements. One is
labelled as Assertion (A) and the other is labelled as
Reason(R).

Assertion (A) : Computer can do computing and
teleconferencing.

Reason (R) : Computer with internet
connectivity and having proper
software can do computing and
teleconferencing.

In the light of the above mentioned
statements, choose the most appropriate
answer from the following options:

(A) Both (A)and (R) are correct and (R) is
the correct explanation of (A)

(B) Only(A)iscorrectand (R)isnotcorrect
explanation of (A)

(C) Only (A) is not correct and (R) is also
not correct explanation of (A)

(D) Both (A) and (R) are not correct

32. THIEH AR (A @[ e 7,
fEferie s (3 o b F<:
(A) T8I, 712G € Jafwe 2AfFEal
(B) SIfSe108 SATSISIA W& (UH] AR
(C) “Shifaie=la’ Tz 7RF=e @R P
ey fwiom ZIe
(D) Tw-faistal Aimews

33. i b [gfs vrex =1, 77 @ HF
(Assertion) (A) 93} SIGE I
(Reason) (R) J&T (ATCS (L
TET(A) : IITHE ISR @R Glermrica™iR
FACS T |
G (R) : TTRCEE IR 93 SRS AT G-
g@ IATHIT FHEATH @
GIeTRFTrIE ™19 7 |
fefouflr e Fakie el @@
(A) (A)€ (R) T2 5% @3z (R) T (A)-47
Ao g
(B) (@G (A) T&1 3 @3 (R), (A)-4%
AT AN 7
(C) B9 (A) ¥ R (R) € (A)-99
Ao T T
(D) (A) €<% (R) (B2 e
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34. A certain country has 504 universities and
25951 colleges. These are categorised into Grades
L, II, and III as shown in the given pie

charts.

What is the percentage, correct to one
decimal place, of higher education institutions
(colleges and universities) that falls into Grade
1r?
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34. o6 WS o 504 © ffmem @<z
25951 15 w2fwreTs q@ez | el “iE BI @ 1,
1L, II-cS c=ifelam <1 2@ |

il 2foviea (e aag e
o4l Foufe (@T [I-9 2te, it ¥F wIfE B
Se Bora ad |

Universities

£

@ Gradel
O Grade II
* Grade 11T

7%

Colleges

%

68% \

5

Grade [
% Grade I
» Grade 11

[RRIRIGE]

Ry

Grade [
% Grade I
» Grade III

(A) 227

(B) 23-7

(©) 150
(D) 668

35. Match the Items of List-I with the Items of
List-Il and indicate your answer by selecting
appropriate code based on their relevance.

List-1 List-11
(a) Blue Jeans (1) Eric Yuan
Network (2009)
(b) GoTo Meeting  (ii) Citrix Systems/
(2004) Citrix Online
(c) WebEx Messaging(iii)Krish Ramakrishnan
(WebEx) (1995) & Alagu Periyannan
(d) Zoom Video (iv) CISCO
(2011)
Codes:

(@ (b (© (@
A) @) 3> @Gv) @)
B) @i G Gv) @
© @G aGv) @ o (iD)
D) Gv) G @ (D)

@ Gradel

O Grade I “

#* Grade 1T 68%
e

(A) 227
(B) 23-7
(C) 150
(D) 668

35. A G3R ORI~ S NG [
Tl QIR P TGN BoATE FAFS Tl (] et :

Ol Ol
(a)  foem] (oead (i) @fds T
(2009)
(b) GoTo ¢ (i) B1low Pieswy/
(2004) i omenz |

(c) SREH (IR (iii) TeF Fele @3]
(WebEx) (1995) eI (oA
(d) g fef®e (2011) (iv) PRI (CISCO)
ag?:

@ B (© (@

(A) (i) G Gv) (@)

(B) (i) G Gv) @)

© @G Gv) @@ (i)

D) @Gv) Gi) @G (3D
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36. Identify one of the disadvantages of 36. FefeilRe @b redrta amfia o
Geothermal Energy source from the following: G wPIfel =N bizre w1 a7 @I 2=

(A) Good for the environment and (A) ﬁﬁ@}ﬁ?{ @E"W% @ fRfCETe
reliable source of Renewable aaifers fesaial Tl
Energy (B) T Fidwi<el

(B) High efficiency (C) FoaG @ fere i b i

(C) ‘Little to No’ Geothermal System (D) BICEIC ﬁ’é‘fﬁl‘T R A ?ﬂﬁs
Maintenance

(D) Environmental concerns about
greenhouse emissions

o

37. The data given in the following table 37. WakTie SifeeR @edl (©6 @b 927

summarizes the monthly budget of an average J(faaiEa NS qEsa e s | s
household. The approximate percentage of the AETG, T <I(i§/\‘> TER] Wl ZeT:
monthly budget not spent on savings is: R ’

Category Amount (Rs.) P A (Rs.)
Food ) 4,000 YRIE(Food) ... 4,000
Clothing . 1,200 CoAPeITCs . 1,200
Rent . 2,000 M6 .. 2,000
Savings . 1,500 AL ... 1,500
Other Expenses .. 1,800 S A . 1.800

(A) 10% (A) 10%

B) 14% (B) 14%

(©) 81% (C) 81%

(D) 86% (D) 86%

[ Please Turn Over ]



00

38. The credit of coining the term ‘Sustainable
Development’ should be given to:
(A) Brundlandt Commission (1987),
WCED
(B) Eva Balfour and Wes Jackson
(C) Colin Powel
(D) Daniel Pauly and Rashid Sumaila

39. Identify the clean energy source from the
following:
(A) Coal
(B) Petroleum
(C) Geothermal
(D) Natural Gas

40. Whatdoes ‘NAMA’ stand forin the context
of climate change?
(A) Nationally Appropriate Mitigation
Action
(B) National Assessment on
Millennium Achievement
(C) Nuclear Appropriate Mitigation
Assessment
(D) National Airspace Management Actor

41. The Doha Amendment of 2012 is relevant
to which of the following?
(A) The Environmental Protection Act
(B) The Montreal Protocol
(C) The Paris Agreement
(D) The Kyoto Protocol

42. Spotting errors and

inconsistencies in data is called:

(A) Data testing

resolving

(B) Data weighing
(C) Data cleansing
(D) Data correcting
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38. SAPTHEAGTE (CreasieTs T AbeEa
oy oret The—
(A) FFGEANSE B (1987), WCED
(B) T ACHIN QIR S ST
(C) FfeT Aarze
(D) ifaczet sife @z afm Jaizen

39. fanfaiiosfe e e Rea«fes
TG T‘B‘ﬁﬁ Fpel:
(A) e
(B) coGiferans
(C) TErenfa

(D) 2iFfss ol

40. TEAY ARSI NAMA® == J
SIIER
(A) T SNt Ribteme S
(B) S SRS o ey
e Ers
(C) Felrameniaifzes Mo snePers
(D) T G2 (ST SHIES

41. 2012-3 @R g o @woa e
A 2
(A) 1 GTSRITEIOIE (AGF S0F
(B) v s=Get Aot
(C) f #nifs™ @i
(D) 7 FEIG! G

42. (TG! (data )3 TH G PTG bieFe
AN FIICH o1l 2

(A) (OB (GFBL
(B) (TG!SR
(C) (©bI @0
(D) (TSB! FIER



43. Given below are two statements: One is
labelled as Assertion (A), and other is labelled as
Reason (R).

Assertion (A)

Reason (R)

Data Governance sets internal
standard data policies that apply
to how data are gathered, stored,
processed and disposed of.

Data Governance maintains
certain principles to make
effective data governance which
are: (i)  Accountability;
(i1) Standardized rules and
regulations; (ii1) Data
stewardship; (iv) Data quality
standards; and (v) Transparency.

Inthelightofthe above statements, choose
the most appropriate answer from the
following options :

(A) Both (A)and (R) are correct and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are wrong

(C) Only (A) is correct and (R) is wrong

(D) Only (A) is wrong and (R) is not
proper explanation of (A)
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43. s 701 [ (statements) GIFHE TE7
(Assertion) (A) SO I& (Reason) (R) &1l

Ryl
J&<7 (A)

3 (R) :

(TOl ST Srergdl Wi (@5
iz @ FE-1 (Thl 7ReE,
MR, e @R WEET T
e |

(©5] TSHA-97 FOVET T
(i) wiferg; (i) i @ Rt
(iii ) (OB GATEMI91; (iv) (B! @IS
G2 (v) T2 |

e Reaaf (A Soige Ted (@1 -
(A) (A) @R (R)MHR w7 @R (R), (A)-43
A Fefell
(B) (A) €= (R) WHIE o
(C) By (A) v= @R (R) I¥&
(D) Y (A) SwF @R (R), (A)-a99 Al
Jofel =7
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44. In a survey, 300 respondents were asked
whether they own a vehicle or not. If yes, they
were further asked to mention whether
they own a car or scooter or both. Their

responses were tabulated below:

Men Women
Car 40 34
Own vehicle | Scooter | 30 20
Both 60 46
Do not own vehicle 20 50

What percentage of respondents do not own a
scooter?

(A) 83.33
(B) 48
(C) 55
(D) 68

44, «fBAISA 300 TeamTeI feree il w1 Z@lesT
IR ey TR w6231 (72 | T 271 27, i
sJerar fereaoTl a1 Zefest, (7 O SNfE A1 %0
Y512 =tE & 1 | oivra Teawlr wAfiaae Twa
AfIce e 27 |

R | e
QIS 40 34
ey Tl | o= 30 20
G 60 46
fery Fimas w12 20 50
o] T© TGO FOIF (R ?
(A) 83.33
(B) 48
(C) 55

(D) 68



45. Match List-I with List-11I :

List-1
(Data Type)

(a) Nominal data

List-11
(Data Description)

(i) can add and substract
but cannot multiply
and divide.

(b) Ordinal data (i1) can add, substract,

multiply and divide.

(c) Interval data

(d) Ratio

(iii) can arrange orderly.

(iv) cannot perform
mathematical
operations.

Choose the most appropriate answer from
the following options:

Codes:

@ G © @
A @ G (i) (v)
B) @Gv) ai) (G >
© Gy @ (Gv) (i)
(D) @Gi) @) @ @Gv)

46. A learning model that combines

conventional face to face communication with
non-conventional electronically
produced learning inputs is called:
(A) Constructivist learning
(B) ICT based learning
(C) Blended learning
(D) Open learning

Y-19 00

45, ©fe-l 932 Ofe-Il 93 S e e

e :
Ol eI
(CTT! 5izsh) (CTHIF et
() T (OO () @9l @R Rezel Fco
N T8 o @I ©isl
T A
(b) ST (WO (i) calel, facasl, @d @R
S5l 1 T |
(c) TBIASIA (O (iii) TP Tl T |
(d) aPre (iv) sifife= e
(operations) F41 I
il
s emafe 2w wHifts Soge Tea
bize 3 :
ﬂfﬂ :

(@ (b (© (@
@A) @ G aG  Gv)
B) @Gv) (@) @) (i)
© Gy @ (Gv) (i1
D) G @ @O ()

46. 2bfeTe IR IR TR MOEER A
Afed el dge ke feR w6 @

TS ol Cofd 2, SIS o7 =X

(A) FEIfE aTfek
(B) ICT fefes frmt
(©) @y fr

(D) & (€t sl
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47. NEP 2020 recommends to increase the
Gross Enrolment Ratio in higher education
including vocational educationin2018
to the expected said Gross Enrolment

Ratio in 2035

(A) From 24-3% to 45%
(B) From 23-6% to 48%
(C) From 32:6% to 40%
(D) From 26:3% to 50%

48. In a group of members with different
backgrounds, the barrier to communication among
them primarily rises from:

(A) Dress design
(B) Ethnicity

(C) Colour blindness
(D) Food habit

49. The expression of emotions by men and
animals as stated by experts like Charles Darwin
established:

(A) Verbal Communication
(B) Non-verbal Communication
(C) Speech Communication
(D) Visual Communication

50. The documentary film making movement
that began in France during 1960’s is known as
(A) Film Noir
(B) Direct Films
(C) Unscripted Movie
(D) Cinema Verité
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47. NEP 2020 T & @3k Jfeqers R
2 GGG (@A*e’ 2018 (A 2035-9 (T *iR*!
iﬁ%—ﬂ ol T Ol 26

(A) 24-3% (TF 45%
(B) 23-6% (A 48%
(C) 32:6% (AT 40%
(D) 263% (T 50%

48. for fom “loghil (3 w1 st i oifes
@ TR Wy fsamdoia 24 T Z0:
(A) CoIRE-~ATEs
(B) wifeaal (ethnicity)
(C) efiel
(D) <myrey™

49. U, @ 50 TIRTEH, WA S 2
SRR AR AT
(A) G HA%eld
(B) SICTIRF A
(C) b fofes AeEa
(D) wifefes ez

50. 1960-93 W& T ©AHa IANEHT @
SIWIET F ZERE, ©IF I
(A) P G
(B) TiEg fFus
(C) SiEEcBe Jfe
(D) Pl cefae




Y-21

Space for Rough Work

00



00

Y-22

Space for Rough Work



Y-23

Space for Rough Work

00



00

Y-24

Space for Rough Work




 
 
    
   HistoryItem_V1
   PageSizes
        
     Range: all pages
     Size: 7.700 x 10.250 inches / 195.6 x 260.3 mm
     Action: Make all pages the same size
     Scale: No scaling (crop or pad)
     Rotate: Never
      

        
     D:20240907124740
      

        
     0
            
       D:20230301132756
       738.0000
       ctp-pagesize_new
       Blank
       554.4000
          

     Tall
     1
     0
     507
     155
     qi3alphabase[QI 3.0/QHI 3.0 alpha]
     CCW
     None
            
                
         AllDoc
              

      
       PDDoc
          

     Custom
      

        
     QITE_QuiteImposingPlus4
     Quite Imposing Plus 4.0b
     Quite Imposing Plus 4
     1
      

        
     22
     21
     22
      

   1
  

 HistoryList_V1
 qi2base





